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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 836 2) 8,416 3 62 4 356
-420 -1,001 -41 - 10 2
3.
4.
5 8,949 6 23 7 876 8 9,289 >
-3,204 -10 - 503 -3,008 6
7.
8.
9 95 100 784 1) 2,337 12) 24 9.
-11 - 152 - 12 - 10
- - - - 10.
11.
12.
13) 164 14 5,971 15) 54 16) 827 13,
-1 -4,510 - 43 -1
- - - - 14,
15.
16.
1) 2,179 18) 55 190 741 20) 7,267 7
- 1,015 - 24 - 600 - 3,025
18.
19.
20.
1-10195|90|85(80|75|70| 65|60 (55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
L 416
1) 836 2) 8,416 62 4 356
- 420 - 1,001 - 41 - 10 » 7415
416 7,415 21 346
3, 21
4 346
5 8,949 6 23 876 8 9,289 > 2745
- 3,204 - 10 - 503 - 3,003 . 13
5,745 13 373 6,286
7 373
8. 6286
9 95 10 784 2,337 12) 24 9 84
- 11 - 152 - 12 - 10 632
84 632 2,325 14 1o
11 2325
12 14
13) 164 14) 5,971 54 16) 827 13, 163
-1 - 4,510 - 43 -1
163 1,461 11 826 4. 1461
15, 11
16. 826
1) 2,179 18) 55 741 20) 7,267 7 1164
- 1,015 - 24 - 600 - 3,025
1,164 31 141 4,242 18, 31
19 141
0. 4242
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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C:# Subtracting without Regrouping Name:

Solve each problem. Answers
2325 14 84 6286
7415 416 13 346 1
5745 632 21 373
2
1) 836 2 8,416 3 62 4) 356 3.
- 420 -1,001 -41 - 10
e T = _ = 4
5.
6.
7.
8.
5 8,949 6 23 7) 876 8) 9,289 0,
- 3,204 -10 - 503 - 3,003
- - - - 10.
11.
12.
9 95 100 784 1) 2,337 12) 24
-11 - 152 - 12 -10

M odified 1-10 |92[83| 75| 67[58|50] 42|33 | 25] 17|
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